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1. TP iz +2t' -4y=1y(0)=y'(0)=0 -
(@) F &% F & fRin shp g S P 2 (10%)
(b) 41 y(r) =2 (10%)

2. Bz FEpcA 2 AR X%y -0 -3y =0;y(1) =5y'(1) =3
(@) F R et pes > AN AR S AU A S AR (R F]) 7 (5%)
(b) fept 23 = = PR pc s AR5 engd fE (particular solution) - (10%)
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(@) #-F itz S LA S Ax=b 7558 o (5%)

(b) Fesm k siid fz(general solution) - (10%)
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@) A=z #4258 o (5%)
(b) A&tz i iE (eigenvalues) £ 4p ¥+ 2. 4 e £ (eigenvectors) - (10%)

6. - 1282 &L g B (half-wave rectifier) » &7 - #mf f*R> ﬂﬁa?] > 7Rk

Vs (t) =V, sin(wt) Mﬁj rgoom I(f) 2. & = ¥ & #(Fourier series) - (20%)



